
ADM-30.1
Интегрированный стерео усилитель 

ÎÑÍÎÂÍÛÅ ÔÓÍÊÖÈÈ

• }*“*люƒ,"…=  ц,-!%"=  2е.…%л%г,  Onkyo VL

• n2дель…/е 2!=…“-%!м=2%!/ дл  ле"%г% , C!="%г% *=…=л%" 

• m%"/е =*3“2,че“*, …=“2!%е……/е .2=л%……/е *%…де…“=2%!/, 
“*%…“2!3,!%"=……/е C% “Cец,=ль…%м3 ƒ=*=ƒ3 

• b%ƒм%›…%“2ь C%“лед%"=2ель…%г% C%д*люче…,  * д!3г%м3 3“,л,2елю м%?…%“2,

• b%ƒм%›…%“2ь !=K%2/ “ 3“2!%L“2"=м,, %Kл=д=ю?,м, …,ƒ*,м ,мCед=…“%м 
(“2=K,ль…% д% 2 nм) 

• lед…/е Cл=2/ ш,… “ …,ƒ*,м ,мCед=…“%м дл  ,де=ль…%г% …3ле"%г% C%2е…ц,=л= 

• oл%“*%е …е!еƒ%…,!3ю?ее ш=““, "/“%*%L ›е“2*%“2, (2%л?,…= 1,6 мм) 

• `3д,%!=ƒAем/ “ ш=г%м !еƒьK/ 19 мм дл  "/“%*%*=че“2"е……/. *=KелеL

ÄÐÓÃÈÅ ÂÎÇÌÎÆÍÎÑÒÈ

• 90 b2/*=…=л C!, 4 nм, 1 *cц, 2 !=K%2=ю?,. *=…=л=., JEITA 
40 b2/*=…=л C!, 8 nм, 1 *cц, 0,8 %, 2 !=K%2=ю?,. *=…=л=., FTC
40 b2/*=…=л C!, 8 nм, 1 *cц, 1 !=K%2=ю?ем *=…=ле, IEC

• pег3л,!%"*= 3!%"…  ".%д…%г% “,г…=л=  

• pег3л 2%! 3!%"…  ч3"“2",2ель…%“2, %K…=!3›е…,  =3д,%“,г…=л%" (-6...0 дa) , 
"/*люч=2ель

• 1 =3д,%".%д , 1 "/.%д  

• Š!,гге!…/L ".%д/"/.%д дл  12 b C3“*%"%г% “,г…=л= ,  !еле д,“2=…ц,%……%г% 
"*люче…, /"/*люче…,  12 b 3C!="л ю?,м “,г…=л%м 

• t3…*ц,  ="2%м=2,че“*%г% "*люче…,  (*%…2!%лле! "*люче…, /"/*люче…,  " 
ƒ=",“,м%“2, %2 %K…=!3›е…,  =3д,%“,г…=л%" , 12 b 2!,гге!) 

• o%ƒ%л%че……/е “*"%ƒ…/е *лемм/ дл  =*3“2,че“*,. “,“2ем, “%"ме“2,м/е “ 
%д…%C%лю“…/м, ш2е*е!=м, 2,C= &K=…=…[ 

• o!%"%д C,2=…, , C!ед…=ƒ…=че……/L дл  !=K%2/ " 3“л%", . 2 ›ел/. …=г!3ƒ%*

• `люм,…,е"=  Cе!ед…   C=…ель
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ÒÅÕÍÈ×ÅÑÊÈÅ ÕÀÐÀÊÒÅÐÈÑÒÈÊÈ ADM-30.1

ÑÅÊÖÈß ÓÑÈËÈÒÅËß

b/.%д…=  м%?…%“2ь. b“е *=…=л/:    90 b2/*=…=л C!, 4 nм, 1 *cц, 2 !=K%2=ю?,. *=…=л=., JEITA
     40 b2/*=…=л C!, 8 nм, 1 *cц, 0,8 %, 2 !=K%2=ю?,. *=…=л=., FTC 
     40 b2/*=…=л C!, 8 nм, 1 *cц, 1 !=K%2=ю?ем *=…=ле, IEC
d,…=м,че“*=  м%?…%“2ь:   115 b2 C!, 3 nм; 90 b2 C!, 4 nм; 45 b2 C!, 8 nм
o%л…/L *%.--,ц,е…2 г=!м%…,че“*,. ,“*=›е…,L: 0,08 % (1 *cц, 8 nм, 1 b2 "/.%д…%L м%?…%“2,)
j%.--,ц,е…2 демC-,!%"=…, :   60 (1 *cц, 8 nм)
)3"“2",2ель…%“2ь , ,мCед=…“ ".%д=:  200 м*b/33 *nм (л,…еL…/L ".%д)
r!%"е…ь “,г…=л= , ,мCед=…“ "/.%д=:  200 м*b/2,0 *nм
)=“2%2…=  .=!=*2е!,“2,*=:   5 cц - 60 *cц (+1, -3 дa, CD)
n2…%ше…,е “,г…=л/ш3м:   100 дa (л,…еL…/L ".%д, "ƒ"еш,"=ю?,L -,ль2! IHF-A) 
hмCед=…“ =*3“2,че“*,. “,“2ем:   4 nм - 16 nм

ÎÁÙÈÅ ÕÀÐÀÊÒÅÐÈÑÒÈÊÈ

o=!=ме2!/ C,2=…, :    220-240 b Cе!еме……%г% 2%*= “ ч=“2%2%L 50/60 cц
o%2!еKл ем=  м%?…%“2ь:   70 b2
c=K=!,2/ (x.b.c):    435 x 80 x 340 мм
bе“:     9,6 *г




